

SOLUTION OF DIOPHANTINE EQUATIONS BY SECOND ORDER LINEAR RECURRENCES

P. Kiss and K. Liptai (Eger, Hungary)

To the memory of Imre Környei

To the memory of Béla Kovács

Abstract. Solutions of many diophantine equations can be expressed by the terms of linear recurrences. A collection of these equations is presented in the paper. Furthermore it is shown that all positive integer solutions of the equation $x^2 + x(y - 1) - y^2 = 0$ are $(x, y) = (F_{2h+1}^2, F_{2h+1}F_{2h+2})$, where F_n denotes the n -th Fibonacci number.

Let A, B, G_0, G_1 be fixed integers, such that $AB \neq 0$ and not both of G_0, G_1 are zero. Define a second order linear recurrence by a recursive formula

$$G_n = AG_{n-1} - BG_{n-2} \quad \text{for } n > 1$$

which will be denoted by G or $G(A, B, G_0, G_1)$. A sequence $H(A, B, H_0, H_1)$ is the associated sequence of the sequence $G(A, B, G_0, G_1)$ if $H_0 = 2G_1 - AG_0$ and $H_1 = AG_1 - BG_0$. Special cases of sequence G are the Fibonacci sequence $F = F(1, -1, 0, 1)$, the Lucas sequence $L = L(1, -1, 2, 1)$ and the Pell sequence $P = P(2, -1, 0, 1)$.

The equation

$$x^2 - Dy^2 = N,$$

where $N \neq 0$, D is not a perfect square and $D > 0$, is called Pell equation.

We know many relationships between the Pell equation and second order linear recurrences. D.E. Ferguson [4] proved, that the only solutions of the

Research was (partially) supported by Hungarian National Foundation for Scientific Research, grant No. T020295 and 29330.

equation $x^2 - 5y^2 = \pm 4$ are $x = \pm L_n, y = \pm F_n$, where L_n and F_n are the n -th terms of Lucas and Fibonacci sequences. E.M. Cohn, I.Adler, V.Thebault [3,1,2,13] showed that there is similar connection between the equation $x^2 - 2y^2 = \pm 1$ and the Pell sequence.

P. Kiss and F. Várnai [10] proved that all solutions of the equation $x^2 - 2y^2 = N$ can be determined by finitely many sequences $P(2, 1, P_0, P_1)$, such that $(x, y) = (\pm(P_{2n} + P_{2n+1}), \pm P_{2n+1})$. P. Kiss [11] generalized this theorem. Suppose that $a > 0$ is a fixed integer. If there exists a solution of the equation $x^2 - (a^2 + 1)y^2 = N$, then all solutions can be given by the terms of finitely many sequences $G(2a, -1, G_0, G_1)$.

In the same paper P. Kiss generalized the result of D. E. Ferguson, that is if there exists a solution of the equation $x^2 - (a^2 - 4)y^2 = 4N$, then all solutions can be given by the help of finitely many sequences $G(a, 1, G_0, G_1)$, such that $(x, y) = (\pm H_{2n}, \pm G_{2n})$, where H is the associated sequence of G , and if $N > 0$ then $0 < G_1 < \sqrt{N}$, if $N < 0$ then $0 \leq G_1 < a\sqrt{\frac{-N}{a^2-4}}$.

The above results can be generalized: the solutions of Pell equations for any D ($D > 0$, D is not a perfect square) can be given by the help of second order linear recurrences and all solutions can be determined by number pairs of terms of second order linear recurrences.

K. Liptai [12] proved the following result: Let N, D be integer numbers, $N \neq 0, D > 0$, and D is not a perfect square. Let (u_0, v_0) be the fundamental solution of the equation

$$x^2 - Dy^2 = 1.$$

If the equation

$$x^2 - Dy^2 = N$$

has a positive integer solution (x_0, y_0) , then all solutions can be given by the help of finitely many sequences $G(2u_0, 1, G_0, G_1)$, $H(2u_0, 1, H_0, H_1)$ such that

$$(x, y) = (G_n, H_n)$$

and

$$\begin{aligned} 0 \leq H_0 < v_0 \sqrt{N} & \quad \text{for} \quad N > 0, \\ 0 < H_0 < \sqrt{\frac{-Nu_0^2}{D}} & \quad \text{for} \quad N < 0. \end{aligned}$$

Another type of results was shown by J.P. Jones. In [5, 6] he proved that the sets of all Fibonacci numbers, respectively Lucas numbers, equal the sets of positive values of polynomials

$$y(2 - (y^2 - yx - x^2)^2) \quad \text{and} \quad y\left(1 - \left((y^2 - yx - x^2)^2 - 25\right)^2\right),$$

if $x > 0, y > 0$.

P. Kiss [9] extended these results proving the following. Let $R = R(A, B, 0, 1)$ be a second order linear recurrence, where $A > 0, B = -1$ or $A > 3$ and $B = 1$. Suppose that $x \geq 0, y \geq 0$ are integers. Then $|x^2 - Axy + By^2| = 1$ if and only if x and y are consecutive terms of the sequence R . Furthermore he proved, that the set of the all terms of sequence R equals the set of non-negative values of polynomial

$$f(x, y) = y \left(2 - (x^2 - Axy + By^2)^2 \right),$$

where $x > 0, y > 0$ are integers.

J. P. Jones [7] proved the following general theorem. Let \mathbf{A} be the set of non-Fibonacci natural numbers. There exists a $P(z, x, y, v)$ polynomial of 4 variables such that $z \in \mathbf{A}$ if and only if there exist $x, y, v \in \mathbf{N}$ such that $P(z, x, y, v) = 0$. If $z \in \mathbf{A}$ is fixed, then x, y, v are uniquely determined.

V. E. Hoggatt Jr. [8] investigated a diophantine equation and stated the following.

Theorem. *All positive integer solutions of the equation*

$$(1) \quad x^2 + x(y - 1) - y^2 = 0$$

are

$$(2) \quad (x, y) = (F_{2h+1}^2, F_{2h+1}F_{2h+2}).$$

However Hoggatt's proof of this theorem is not perfect. After some calculations he obtained an equation of the form

$$(y - 1)^2 + 4y^2 = z^2$$

and deduced from here that

$$y - 1 = m^2 - n^2, \quad 2y = 2mn \quad \text{and} \quad z = m^2 + n^2$$

with some integers m and n . But it is correct only if y is even, since $(y - 1, 2y) = 1$ or 2 . Thus the theorem is proved only when $y = F_{2h+1}F_{2h+2}$ is even, i.e. y is of the form $y = F_{6k+3}F_{6k+4}$ or $y = F_{6k+5}F_{6k+6}$.

In the following we complete Hoggatt's proof.

Proof of the Theorem. In the case y is even, Hoggatt's proof is correct, that is all positive integer (x, y) solutions of (1) are the pairs in (2). Reducing

the Fibonacci sequence modulo 2, it can be easily seen that y is even if and only if $2h + 1$ has the form $6k + 3$ or $6k + 5$.

Now let (x, y) a solution of equation (1) such that $y = 2t + 1$ is odd. In this case, by (1), x is an integer if and only if

$$(y - 1)^2 + 4y^2 = z^2,$$

i.e. if

$$t^2 + y^2 = q^2$$

with some integer z and $q = z/2$. But $(t, y) = 1$, so there are integers m, n such that

$$(3) \quad t = 2mn, \quad y = m^2 - n^2 \quad \text{and} \quad q = m^2 + n^2.$$

Using that $y = 2t + 1$, by (3)

$$m^2 - n^2 = 4mn + 1$$

and

$$(4) \quad m = \frac{4n \pm \sqrt{16n^2 + 4n^2 + 4}}{2} = 2n \pm \sqrt{5n^2 + 1}$$

follows. It implies that

$$(5) \quad 5n^2 + 1 = s^2$$

with some integer s and so we obtained the Pell equation

$$(6) \quad s^2 - 5n^2 = 1.$$

The fundamental solution of (6) is $(s_0, n_0) = (9, 4)$ and so, as it is well known, all positive solutions (s, n) of (6) are determined by

$$s + n\sqrt{5} = (9 + 4\sqrt{5})^k$$

and

$$s - n\sqrt{5} = (9 - 4\sqrt{5})^k \quad (k = 1, 2, \dots).$$

Thus we get

$$s = \frac{(9 + 4\sqrt{5})^k + (9 - 4\sqrt{5})^k}{2}, \quad n = \frac{(9 + 4\sqrt{5})^k - (9 - 4\sqrt{5})^k}{2\sqrt{5}}$$

and so, by (4) and (5),

$$m = \frac{(2 + \sqrt{5})(9 + 4\sqrt{5})^k - (2 - \sqrt{5})(9 - 4\sqrt{5})^k}{2\sqrt{5}}$$

and after some elementary calculations it follows that

$$y = m^2 - n^2 = \frac{1}{5} \left(\left(\frac{1 + \sqrt{5}}{2} \right)^{6k+1} - \left(\frac{1 - \sqrt{5}}{2} \right)^{6k+1} \right) \cdot \left(\left(\frac{1 + \sqrt{5}}{2} \right)^{6k+2} - \left(\frac{n + \sqrt{5}}{2} \right)^{6k+2} \right) = F_{6k+1} F_{6k+2},$$

since

$$F_q = \frac{1}{\sqrt{5}} \left(\left(\frac{1 + \sqrt{5}}{2} \right)^q - \left(\frac{1 - \sqrt{5}}{2} \right)^q \right)$$

for $q = 0, 1, 2, \dots$ by the Binet formula.

We can similarly show that

$$x = \frac{-y + 1 + q}{2} = \frac{n^2 - m^2 + 1 + 2m^2 + 2n^2}{2} = F_{6k+1}^2$$

which completes the proof.

References

- [1] **Adler I.**, Three diophantine equations I., *Fibonacci Quart.*, **6** (1968), 360-369, 371.
- [2] **Adler I.**, Three diophantine equation II., *Fibonacci Quart.*, **7** (1969), 181-193.
- [3] **Cohn E. M.**, Complete diophantine solution of the Pythagorean triple $(a, b = a + 1, c)$, *Fibonacci Quart.*, **8** (1970), 402-405.
- [4] **Ferguson D. E.**, Letter to the editor, *Fibonacci Quart.*, **8** (1970), 88-89.

- [5] **James P. Jones**, Diophantine representation of the Fibonacci numbers, *Fibonacci Quart.*, **13** (1975), 84-88.
- [6] **James P. Jones**, Diophantine representation of the Fibonacci numbers, *Fibonacci Quart.*, **14** (1976), 134.
- [7] **James P. Jones**, Diophantine representation of non-Fibonacci numbers, *Applications of Fibonacci Numbers Vol.5*, Kluwer Acad. Publ., 1993, 387-392.
- [8] **Hoggatt V. E.**, Some more Fibonacci diophantine equations, *Fibonacci Quart.*, **9** (1971), 437 and 448.
- [9] **Kiss P.**, Diophantine representation of generalized Fibonacci numbers, *Elemente der Mathematik*, **34** (6) (1979), 129-132.
- [10] **Kiss P. and Várnai F.**, On generalized Pell numbers, *Math. Sem. Not. (Kobe Univ. Japan)*, **6** (1978), 259-267.
- [11] **Kiss P.**, Pell egyenletek megoldása lineáris rekurzív sorozatok segítségével, *Acta Acad. Paed. Agriensis*, **17** (1984), 813-824.
- [12] **Liptai K.**, On a diophantine equation, *Discuss. Math.*, **18** (1998), 49-59.
- [13] **Thébault V.**, Sur les suites de Pell, *Mathesis*, **65** (1956), 390-395.

P. Kiss and K. Liptai

Eszterházy Károly Teacher's Training College

Leányka u. 4.

H-3300 Eger, Hungary